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WORD OF THE DAY

SPECTRE

(NOUN): (¥d): ghost

Synonyms: phantom, apparition
Antonyms: body, flesh
Example Sentence:

A dread of spectres and witches

affected every aspect of daily life.
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Error Detection
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D | ERRORDETECTION

1. The Ministry of Home Affairs (MHA) has (A) /
issued an advisory to the West Bengal government
(B) / and seek a report on the (C) / rising political
violence in the State. (D)/ No error. (e)

Correct Option: we have used the verb seek and it is the
present indefinite form of the verb. It should have
been sought to make the sentence grammatically

correct.
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2. It is requested that a detailed (A) / report be sent
urgent on the (B) / representations and ongoing (C) /
strike by the doctors. (D)/ No error. (e)

B) Replace ‘urgent’ with ‘urgently’



| ERRORDETECTION

a) Till 1970, India was among first
nations / b) having the highest quota
with IMF / ¢) and due to this status
India was allotted / d) a permanent
place in the Executive Board of

Directors / e¢) No error.

Answer: a)

Explanation: Insert “the” before “first”



| ERRORDETECTION

a) India has one of the largest / b) road
network / ¢) in the world, aggregating to /
d) 3.6 million kilometers at present / ¢) No

error.

Answer: b)

Explanation: Replace “network” with

“networks”



S.

| ERRORDETECTION

a) Once the demand draft will be deposited / b) the
individual will be eligible / ¢) to participate in /d)

the online bidding process / €) No error.

Answer: a)

Explanation: Replace “will be” with “is”
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6. a) My resignation was a spontaneous action / b)
since I have always believed / ¢) that life unless /

d) honor is no living at all / ¢) No error.

Answer: ¢)
Explanation: Replace “unless” with

“without”



| ERRORDETECTION

a).0One of the most essential and major asset / b).
for India right now is electricity, / ¢). therefore it
is important that / d). electricity should reach

the end customer. / e). No error

Answer: a)
Explanation: Replace “assest” with

‘“assets”



CLOZE TEST



Lifeis fullof 1 tyBes of experiences.
If a man is happy today, he may be 2
unhal)py the very next day. Some —_ 3
are pleasant and joyful while others are Tull
of 4  and pain. If at one time a person
finds himself on top of the world, at the
S time he is depressed and downcast.

Select the most a{) ropriate option that will
fill in the blank ( )p
A) allied
B) amplified
varied
Systematic

E) None of these

Correct Answer : (C) varied




Lifeis full of 1 tyBes of experiences.
If a man is happy today, he may be 2
unhai)py the very next day. Some —_ 3
are pleasant and joyful while others are Tull
of ~ 4  and pain. If at one time a person
finds himself on top of the world, at the
S time he is depressed and downcast.

Select the most ag ropriate option that will
fill in the blank (2).
A) quite
B) major
most
D) Quietly
E) None of these

Correct Answer : A



Lifeis fullof 1 tyﬁes of experiences.
If a man is happy today, he may be 2
unhappy the very next day. Some — 3
are pleasant and joyful while others are Tull
of ~ 4  and pain. If at one time a person
finds himself on top of the world, at the
S5 time he is depressed and downcast.

Select the most ag ropriate option that will
fill in the blank ( )p
A) customs
B) experiences
tenderizes

Rituals
E) None of these

Correct Answer : (B) experiences



Lifeis fullof 1  types of experiences.
If a man is happy t0d§¥, e may be
unhafpy the very next day. Some —_ 3
are pleasant and joyful while others are Tull
of 4  and pain. If at one time a person
finds himself on top of the world, at the
S  time he is depressed and downcast.

Select the most aX ropriate option that will
fill in the blank ( )p
A) echoes
pathos
ethos

B
D) Mythos
E) None of these

Correct Answer : (B) pathos




Lifeis fullof 1  types of experiences.
If a man is happy t0d§¥, e may be
unhafpy the very next day. Some —_ 3
are pleasant and joyful while others are Tull
of 4  and pain. If at one time a person
finds himself on top of the world, at the
S  time he is depressed and downcast.

Select the most ag ropriate option that will
fill in the blank ( )p
A) last
other
most

B
D) Second
E) None of these

Correct Answer : (B) other
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They complain that what he stands in (A) /
should have reflected in the choice (B) / of
party candidates as well (C) / in the just
concluded Lok Sabha election. (D)/ No error

(E)






